

$$a + c - (d + a + z - (b + c - (-d + c))) =$$

$$a + c - (d + a + z - (b + c + d - c)) =$$

$$a + c - (d + a + z - b - c - d + c) =$$

$$a + c - d - a - z + b + c + d - c =$$

$$\underline{\underline{b + c - z}}$$

NR.

$$+ (x + y)$$

$$= (+1) \cdot (x + y) = 1 \cdot x + 1 \cdot y = x + y$$

$$- (x + y) = (-1) \cdot (x + y) = (-1) \cdot x + (-1) \cdot y = -x - y$$

$$7 \cdot (x - 2y) \cdot (2x - 3y) =$$

$$(7x - 14y) \cdot (2x - 3y) =$$

$$14x^2 - 21xy - 28xy + 42y^2 =$$

$$\underline{\underline{14x^2 - 49xy + 42y^2}}$$

$$7. (x-2y) \cdot (2x-3y) =$$

$$7. (2x^2 - 3xy - 4xy + 6y^2) =$$

$$7. (2x^2 - 7xy + 6y^2) =$$

$$\underline{\underline{14x^2 - 49xy + 42y^2}}$$

$$4 \cdot x \cdot y + x + 8 \cdot y + 2 =$$

$$x \cdot (4y + 1) + 2 \cdot (4y + 1) =$$

$$\underline{\underline{(4y + 1) \cdot (x + 2)}}$$

$$4x5 + 85 + x + 2 =$$

$$45 \cdot (x+2) + 1 \cdot (x+2) =$$

$$(x+2) \cdot (45+1)$$

$$-12 + 42b - 16a + 56ab =$$

$$6 \cdot (-2 + 7b) + 8a \cdot (-2 + 7b) =$$

$$(-2 + 7b) \cdot (6 + 8a) =$$

$$(7b - 2) \cdot 2 \cdot (3 + 4a) =$$

$$= (-1) \cdot (2 - 7b) \cdot 2 \cdot (3 + 4a)$$

$$\underline{2 \cdot (2 - 7b) \cdot (-3 - 4a)}$$

$$\underline{-2 \cdot (2 - 7b) \cdot (3 + 4a)}$$